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QUESTION 1
What impact does server virtualization have on a traditional datacenter network?

A. Traffic between the virtual machines must be carried in the overlay network, which is not supported by a traditional
datacenter network.

B. Server virtualization requires a hardware upgrade of the network devices (for example, TOR/EOR switch, leaf and
spine routers) in a traditional datacenter network.

C. Server virtualization requires a software upgrade of the network devices (for example, TOR/EOR switch, leaf and
spine routers) in a traditional datacenter network.

D. Traditional network configuration involves manual interaction, which cannot keep up with the dynamic reallocation of
compute resources to virtual machines.

Correct Answer: C

QUESTION 2

What statement is TRUE regarding the pull and push mode of CMS integration with Nuage Networks VCS?
A. In the push model, VSD pushes the network configuration to CMS.

B. In the pull model, VRS pull the network configuration from CMS.

C. In the push model, CMS pushes the network configuration to VSC.

D. In the pull model, CMS pulls the network configuration from VSD.

Correct Answer: C

Reference: https://www.packetcoders.io/what-is-nuage-networks-vcs-virtualized-cloud-services/

QUESTION 3

Refer to the diagram. Which statement is describing a step incorrectly?
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A. Step a, which consists of defining network domain and policy templates on VSD, must be performed first in all
situations.

B. Step d, which refers to the VRS agent informing the VSC of the placement of a new VM, is triggered by step fin
which the VM is instantiated on a hypervisor.

C. Step b, in which the VSC queries VSD on network service and policies required for a new VM, is triggered either by
API calls from the CMS or by manual configuration.

D. Step e, in which the forwarding tables are deployed, consists of the VSC sending them not only to the VRS agent
hosting the new VM, but to all applicable VRS agents.

Correct Answer: D
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QUESTION 4

What is NOT a service model in cloud computing? (Choose three.)
A. Software as a Service (SaaS)

B. Cloud as a Service (CaaS)

C. Infrastructure as a Service (laaS)

D. Platform as a Service (PaaS)

Correct Answer: ACD

Reference: https://www.openintl.com/the-three-service-models-of-cloud-computing/

QUESTION 5

Which of the following is a host-centric overlay solution for a modern data center?
A. SPBM

B. TRILL

C. VXLAN

D. VPLS

Correct Answer: C

Modern data center, traditional technologies are limiting the speed, flexibility, scalability, and manageability of
application deployments. There is emerging interest in the industry in overlay technologies (such as

MPLS, VXLAN, LISP...)

Reference: https://community.cisco.com/t5/data-center-documents/cisco-data-center-overlays-with-focuson-vxlan-slides-
from/ta-p/3159545
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